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Name

Score

1) Rebella earn $95 after her remarkable street performance. She then 

donated $52 for charity. How much is Rebella left with?

2) Clara bought a pair of jeans for $19 and a scarf for $9. How much did she 

spend in all on her purchases?

3) Louis got a bird cage for $51 and a hamster cage for $41. What is the total 

cost incurred to purchase the cages?

4) Jannet got a watch for $67 and sold it for $60. How much less did Jannet 

sell his watch than his purchase amount?

Money - Word Problems

Currency of Germany is

Euro
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1) Rebella earn $95 after her remarkable street performance. She then 

donated $52 for charity. How much is Rebella left with?

$43

2) Clara bought a pair of jeans for $19 and a scarf for $9. How much did she 

spend in all on her purchases?

$28

3) Louis got a bird cage for $51 and a hamster cage for $41. What is the total 

cost incurred to purchase the cages?

$92

4) Jannet got a watch for $67 and sold it for $60. How much less did Jannet 

sell his watch than his purchase amount?

$7

Money - Word Problems

Currency of Germany is

Euro


